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SECTION - B/&%er - ®

i 1 : - 1
Answer any THREE questions, each question carries 6 marks : (3 x 6 = 18)
NRHTET Foach B ev3dk. 38 BBM 6 Losrivy ; ‘
2. What do you mean by bonus shares? State the advantages of bonus shares. A
Weesz Reconehy Q0WTER? W3)re amﬁ@oﬁdr&gt 392, 4
3. Briefly explain any six determinants of a capital structure. 1
0B Bualy Roeed IBmERo DG IRF)TIHTA 83> oBrYD), ZogFN S03, 1
4,

Delta Co. is plannin
X 50,000. You are
Discount rate the ex

g to buying a machine. Two alternatives P & Q, each costing 1
required to call centre profitability index (PI) under 10%
pected cash in flows is given below :

Cash in flows () d
Year Machine P Machine Q [
il 25,000 42,000 [
2 28,000 39,000 _ q

3 31,000 36,000
Discount factor @ 10% is as below : '
Year : 1 2 3 ‘

Discount factor @ 10% : 0.909 0.826 0.751 '
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1 25,000 42,000
2 28,000 39,000
3 31,000 36,000
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5.

Fr . PRy ; . ]
om the following information calculate operating, financial and combined
leverages,

Sales Rs. 10,00,000, Variable cost 30%, fixed cost 2,00,000, 10% Debenture
capital is 15,00,000 and tax rate is 50%.

BYI MBI o8 woBnYoD, BaodnFUEOH, BnoeRy 03) nooleersd dI0e IR Tomd
&ROLD :

SR02E 8. 10,00,000, weenrda #i, 30%, 38 33, 0e. 2,00,000, Be. 10 oI
wWoBI»Y B, 15,00,000 53 36 1S 50%.

at 10% rate of interest.

At the end of 1# year Rs. 6,000
At the end of 2nd year Rs. 8,000
At the end of 3 year Rs. 10,000
At the end of 4t year Rs. 12,000

At the end of 5t year Rs. 14,000
8 #YNs mdécmai& 33 Jaro gadob® Bezms 10 Tod u&a 033200 5 JIAFnY
sz pobd vnd 2,133315’ wc{sdaﬁ& 0@ &oB0oD :

Gs. 6,000 Spcedod Sar eo:%dq.
gs. 8,000 oHo@dod JaF eo:%dc?_‘
G, 10,000 Soeddod S eo:s:sciqn

own. 12,000 mc%a?oi) SIAF eosddc‘)

dn. 14,000 ondod JaF eoa:sdd)
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SECTION — C/&pn - 2

Answer any THREE questions. Each answer carries 14 marks : (3 x 14 = 42)

6. Evaluate the future value at the end of five years of the following payments
FYNT 03I TeroR Baeth BB evIdl. 3 81t 14 0T |

Explain in detail Goals of Financial Management.
@rven) ISFamod evd eBrva) 350N S0,

7

g. What do you mean by working capital? Explain the determinants of working
capital.

720F 103 LOBY H0BEER)? UHT Boee) FOmRO Bedo VoY), ISO2.
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